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PekypcuBHble OYHKL U

X-Y, ecau x-y=0
1) XY=
0, 8 NPOMUBHOM CAYHAE

2) |x-y|=



PekypcuBHble OYHKL U

X-Y, ecau x-y=0
1) XY=
0, 8 NPOMUBHOM CAYHAE

2)  |x-y|=(x-y)+(y-x)



YacTu4YHO-peKkypCcmBHbIE (PYHKLINM

1) Ilenas gyactp oTmenenus [x/y]

IIpum. [x/0]=0

2) OcTaTokK OT AesieHusa [x mod y]

ITIpum. [x mod 0]=0



YacTu4Ho-pekypcuBHblie OYHKLINM

1) Iemas yacts otaenenusa [x/y] = M[ (y—-0)((x+1) 7 y(z+1))=0 ]

IIpum. [x/0]=0

2) OcraTok oT Aesienusd [x mod y] = x = y[x/y]

ITIpum. [x mod 0]=0



